

15th, 16th & 17th May 2025

FRUIT & VEGETABLES

Enquiries: Marianne Wyllie- jarmac@hotmail.com.au

Theme:

FARMING in the FUTURE

SPONSORS

THE FRUIT & VEGETABLES COMMITTEE OF THE GYMPIE DISTRICT SHOW SOCIETY EXTEND THEIR APPRECIATION TO THE FOLLOWING BUSINESS AND INDIVIDUALS WHO HAVE GENEROUSLY SUPPORTED THE 2024 SHOW SPONSORS

Ambrosia Indian Restaurant Autobarn Gympie Brown, Macaulay & Warren Chartered Accountants & Financial Services Coles Supermarket Dolphin Waters Tin Can Bay Harlen's Heavy Diesel Services Jim Alford Joe Kiernan Karinya Florist Katek Fertilizers Australia McClintocks Fuel Supply McDonalds Family Restaurant Moments by Mikaela Mrs. Shirley Bishop Norco Rural Gympie Nutrien Ag Solution Rod Neal Memorial Trophy Templeton Ginger The Ginger Factory Tom Grady Rural Merchandise Pty Ltd Tom Grady Real Estate Tom Bambling Plumbing & Gas Tony Perrett MP Tyrepower Gympie Wide Bay Water Supplies Woolworths, Central Woolworth, Southside 4TINT2U Cooloola Farmer and Sun

STEWARD'S LIST

PAVILION CHIEF STEWARD: HEAD STEWARD: STEWARDS: HONORARY STEWARDS: Mikaela Sima: 0421 855 749 Marianne Wyllie Ph. 5483 2920, Mob. 0439 771 790 J Alford, G Fewtrell, J Witts, A Bambling & P Wyllie M Alford, J Kiernan, D & B Murray, C Treichel, C Wyllie, J & F Wyllie, R Wyllie, M Witts, J & A Wyllie, E Whalley, N Shaw, M Treeby, G Waikari, C Fewtrell & S Hilliar

RULES AND REGULATIONS

THE GYMPIE DISTRICT SHOW SOCIETY IS OPERATING UNDER THE QUEENSLAND AGRICULTURAL SHOWS. TO AVOID MISUNDERSTANDING, COMPETITORS ARE REQUESTED TO READ THESE REGULATIONS CAREFULLY

EXHIBIT ENTRIES, DELIVERY AND COLLECTION

FREE ENTRY

EXHIBITS ARE TO BE DELIVERED, ACCOMPANIED WITH ENTRY FORMS, TO THE FRUIT & VEG PAVILION ON THE FOLLOWING DAYS AND TIMES.

Tuesday 13th May between 9am to 6pm

Wednesday 14th May between 7am to 10am

NO PRODUCE WILL BE ACCEPTED AFTER 10 AM ON WEDNESDAY 14TH MAY.

EXHIBITS CAN ONLY BE ENTERED IN ONE CLASS, EXCEPT CLASSES IN PUMPKIN & GRAMMA SECTIONS.

ALL EXHIBITS MUST BE GROWN BY THE EXHIBITOR.

CHILDREN MAY ENTER THE ADULT/18+ SECTION, ADULTS/18+ CAN NOT ENTER THE JUNIOR SECTION.

EXHIBITORS WISHING TO RETAIN THEIR EXHIBITS MUST NOTIFY STEWARDS WHEN DELIVERING EXHIBITS. THESE EXHIBITS MAY BE COLLECTED FROM THE STEWARDS AFTER 3.30PM SATURDAY 17TH MAY.

EXHIBITORS, PLEASE REFRAIN FROM POSTING PHOTOS OF YOUR ENTRIES ON YOUR PRIVATE SOCIAL MEDIA ACCOUNTS BEFORE 10AM, ON WEDNESDAY 14TH MAY.

PLATES & DISHES WILL BE SUPPLIED WHERE APPLICABLE FOR UNIFORMITY IN HOME GARDEN.

JUDGING COMMENCES at 10.30am ON WEDNESDAY 14TH MAY.

MOST POINTS: CLASSES ARE ASSESSED AS FOLLOWS: 1ST-4 POINTS, 2ND-2 POINTS.

GST will apply if an Exhibitor enters an Exhibit as a Business entity, the Exhibitor has an ABN, and the Exhibitor is REGISTERED for GST. Where GST applies, the Gympie Show Society will pay the prize money quoted in this Schedule plus 10% GST and issue a recipient created tax invoice for prize money paid.

Please provide your ABN and GST registration details on the entry form if you are a business entity.

PRESENTATION OF PRIZES/AWARDS

- Presentation of Prizes/Awards will commence at 2pm Saturday the 17^{th of} May at the: W.F. Bishop Building; Fruit & Veg Pavilion.
- 2. Exhibitors, Sponsors, Judges & Stewards are cordially invited to this presentation.

PRIZE MONEY

- 1. All prize money may be collected in the W F Bishop building from 3.15pm, after Prize & Award Presentation.
- 2. Prize Money not collected by 4pm Friday 20th June shall be deemed a donation to the Gympie District Show Society Inc.

BOX SALE

1. All fruit & vegetables will be sold via box sale on Saturday 17th May 2025 at 3.30pm in front of the-Fruit & Vegetable Pavilion at the W F Bishop building.

CHAMPION PRIZES/AWARDS & RIBBONS

CHAMPION BEST NOVELTY USE OF FRUIT &/OR VEGETABLES - Prize & Ribbon

FRUIT

- CHAMPION BANANA EXHIBIT Prize & Ribbon
- CHAMPION PINEAPPLE EXHIBIT Prize & Ribbon
- CHAMPION CITRUS EXHIBIT Prize & Ribbon
- CHAMPION AVOCADO EXHIBIT Prize & Ribbon
- CHAMPION FRUIT VARIETIES EXHIBIT Prize & Ribbon
- CHAMPION FRUIT EXHIBIT Prize & Ribbon

CHAMPION NUT EXHIBIT - Prize & Ribbon

VEGETABLES

- CHAMPION VEGETABLE VARIETIES EXHIBIT Prize & Ribbon
- CHAMPION GINGER EXHIBIT Prize & Ribbon
- CHAMPION BEAN EXHIBIT Prize & Ribbon
- CHAMPION CUCURBIT EXHIBIT Prize & Ribbon
- CHAMPION VEGETABLE EXHIBIT Prize & Ribbon

RESERVE GRAND CHAMPION FRUIT/VEG EXHIBIT - Prize & Ribbon **GRAND CHAMPION FRUIT/VEG EXHIBIT** - Prize & Ribbon

ADULT/18+ HOME GARDEN

- CHAMPION ADULT/18+ HOME GARDEN FRUIT Prize & Ribbon
- CHAMPION ADULT/18+ HOME GARDEN CITRUS Prize & Ribbon
- CHAMPION ADULT/18+ HOME GARDEN EGG Prize & Ribbon
- CHAMPION ADULT/18+ HOME GARDEN TUBER & ROOT VEGETABLE Prize & Ribbon
- CHAMPION ADULT/18+ HOME GARDEN VARIETY/EXOTIC Prize & Ribbon
- CHAMPION ADULT/18+ HOME GARDEN VEGETABLE Prize & Ribbon
- CHAMPION ADULT/18+ HOME GARDEN NUT Prize & Ribbon
- CHAMPION ADULT/18+ HOME GARDEN SALAD VEGETABLE Prize & Ribbon
- CHAMPION ADULT/18+ HOME GARDEN BASKET OR BOX Prize & Ribbon
- MOST POINTS ADULT/18+ HOME GARDEN Prize & Ribbon
- CHAMPION ADULT/18+ HOME GARDEN Prize & Ribbon

PUMPKIN & EDIBLE GRAMMA

- MOST POINTS PUMPKIN AND EDIBLE GRAMMA Prize & Ribbon
- CHAMPION PUMPKIN AND EDIBLE GRAMMA Prize & Ribbon

CHAMPION RETAILER BASKET/BOX - Prize & Ribbon

JUNIOR HOME GARDEN

- CHAMPION JUNIOR HOME GARDEN FRUIT Prize & Ribbon
- CHAMPION JUNIOR HOME GARDEN EGGS Prize & Ribbon
- CHAMPION JUNIOR HOME GARDEN VEGETABLES Prize & Ribbon
- MOST POINTS JUNIOR HOME GARDEN Prize & Ribbon
- CHAMPION JUNIOR HOME GARDEN EXHIBIT Prize & Ribbon
- ENCOURAGEMENT AWARD JUNIOR HOME GARDEN EXHIBIT Prize & Ribbon Judged by Gympie District Show Society Fruit & Vegetable Stewards

BEST NOVELTY USE OF FRUIT &/OR VEGETABLE

1 st Voucher		2 nd Voucher
CLASS	DETAILS	
9000	Kindergarten to Prep	
9001	Primary School, year 1 & 2	
9002	Primary School, year 3 & 4	
9003	Primary School, year 5 & 6	
9004	Primary Group, 2-6 students, max 45cm square, own cardboard/wood, Theme: Farming in the Future	
9005	Secondary School, year 7 to year 12	
9006	Adult/18+	

FRUIT

Bananas

		PRIZE M	ONEY
CLASS	DETAILS	1 st	2 nd
9007	Bunch of Lady Fingers	\$30	\$15
9008	Bunch of Cavendish	\$30	\$15
9009	Bunch any other variety	\$30	\$15
9010	Carton/Box of Lady Fingers	\$20	\$10
9011	Carton/Box of Cavendish	\$20	\$10
9012	Carton/Box any other variety	\$20	\$10
9013	Hand of Lady Fingers	\$5	\$3
9014	Hand of Cavendish	\$5	\$3
9015	Hand of any other variety	\$5	\$3

Pineapples

POINTS (class	es 9016 and 9	017) WILL E	BE ALLOCATED ON THE	FOLLOWIN	G SCALE: TOTAL 150
Packing and P	resentation	50	Shape and Grading	30	
Colour 20	Quality	30			

Colour 20 Quality 30 Freedom from blemish 20				
1 st PRIZI	L st PRIZE: \$25.00 2 nd PRIZE: \$15.00			
CLASS	DETAILS			
9016	Single layer carton of Pineapples			
	• Fruit must be supplied with tops or	1		
	Fruit must not protrude above the carton			
	External colour to be approx. one half			
	One pineapple may be selected by the Judg	e and cut		
9017	Tray Hybrid (non - smooth Cayenne) Pineapples			
	Fruit must be supplied with top off			
	Fruit must be matured for consumption in local market			
	 Must be supplied in normal commercial fruit tray 			
1 st PRIZE: \$10.00				

1 st PRIZE: \$10.00		
CLASS	DETAILS	
9018	9018 Heaviest Pineapple, single top, fit for consumption	

Citrus

	1 st PRIZE: \$20.00 2 nd PRIZE: \$10.00	
I ^{TT} PRIZE.	\$20.00	2 PRIZE, \$10.00
CLASS	DETAILS	
9019	Tray or Box of Oranges	
9020	Tray of Mandarins	
9021	Tray of Lemons	
9022	Tray of Limes	
9023	Tray of Lemonades	
9024	Tray of any other variety Citrus	

Avocados

FREE ENTRY		1 st \$20.00	2 nd \$10.00
CLASS	DETAILS		
9025	Tray of Avocados, Hass		
9026	Tray of Avocados, Fuerte		
9027	Tray of Avocados, Sharwill		
9028	Tray of Avocados, any other named variety		
9029	Tray of Avocados, Sheppard		

Fruit Varieties

1 st PRIZE:	st PRIZE: \$20.00 2 nd PRIZE: \$10.00	
CLASS	DETAILS	
9030	Tray of Passionfruit	
9031	Tray of Persimmons/Fuji Fruit	
9032	Tray of Tomatoes	
9033	Tray of Mangoes	
9034	Tray of Capsicums	
9035	Tray of Custard Apples, Pink Mammoth	
9036	Tray of Custard Apples, African Pride	
9037	One Carton of Pawpaw	
9038	Carton /Tray any other named variety Fruit	

NUTS

		PRIZE M	10NEY
CLASS	DETAILS	1 ST	2 ND
9039	Macadamia Nuts, in shell, min 1kg	\$3	\$1
9040	Macadamia Kernels, min 250gm	\$8	\$4
9041	Pecan Nuts, in shell, min 1kg	\$3	\$1
9042	Pecan Nut Kernels, min 250gm	\$8	\$4

VEGETABLES

Vegetable Varieties 1st PRIZE: \$20.00 2nd PRIZE: \$10.00 CLASS DETAILS 9043 Carton of Sweet Corn 9044 Tray of Peas any variety 9045 Tray of Snow Peas Carton of Lettuce 9046 9047 Carton of Eggplant 9048 **Carton of Sweet Potatoes** 9049 **Carton of English Potatoes** 9050 Carton of Turnips any variety 9051 Carton of Broccoli Carton of Cauliflower 9052 Carton /Tray of Chokos any variety 9053 9054 Carton/Tray of Vegetables any other named variety 9055 5kg Box of Turmeric

Ginger

1 st PRIZE:	\$20.00	2 nd PRIZE: \$10.00
CLASS	S DETAILS	
9056	5 kg Box of Ginger under 12 months old	
9057	5kg Box of Ginger over 12 months old	

Beans

1 st PRIZE:	\$50.00 voucher	2 nd PRIZE: \$30.00 voucher
CLASS	DETAILS	
9058	1 Tray of Flat Beans, min 5kg	
9059	1 Tray of Round Beans, min 5kg	
9060	1 Tray of Butter Beans, min 5kg	
9061	1 Tray of Borlotti Beans, min 5kg	
9062	1 Tray of Slenderette Beans, min 5kg	
9063	1 Tray of Beans, any other variety, min 5kg	

Cucurbit

1 st PRIZE	\$20.00	2 nd PRIZE: \$10.00
CLASS	DETAILS	
9064	9ltr Tray of Cucumbers, any variety,	
9065	9ltr Tray of Yellow Zucchinis	
9066	9ltr Tray of Green Zucchinis	
9067	9ltr Tray of Green Button Squash	
9068	9ltr Tray of Gold Button Squash	

ADULT 18+ HOME GARDEN

Open to children

Adult 18+ Home Garden Fruit

1 st PRIZE:	1 st PRIZE: \$4.00 2 nd PRIZE: \$2.00	
CLASS	DETAILS	
9069	One Pawpaw	
9070	One Pineapple	
9071	One Hand of Bananas	
9072	Three Yellow Passionfruit	
9073	Three Purple Passionfruit	
9074	Three Five Star Fruit	
9075	Three Avocados, any named variety, short stalk	S
9076	One Custard Apple	
9077	One Monstera Deliciosa	
9078	One Rockmelon	
9079	Dish Rosellas, min 20	
9080	Pie Melon	
9081	Watermelon	
9082	One Red Fleshed Dragon Fruit	
9083	One White Fleshed Dragon Fruit	
9084	One Any Other Coloured Fleshed Dragon Fruit	

Adult 18+ Home Garden Citrus

All Citrus to have a short stalk

1 st PRIZE:	\$4.00	2 nd PRIZE: \$2.00
CLASS	DETAILS	
9085	Three Oranges, Joppa	
9086	Three Oranges, Navel	
9087	Three Oranges, any other variety	
9088	Three Lemons, Bush	
9089	Three Lemons, Lisbon	
9090	Three Lemons, Meyers	
9091	Three Lemons, Villa Franca	
9092	Three Lemons, Eureka	
9093	Three Mandarins, Ellendale	
9094	Three Mandarins, Emperor	
9095	Three Mandarins, Hickson	
9096	Three Mandarins, Imperial	
9097	Three Mandarins, any other variety	
9098	Three Lemonades	
9099	Three Tahitian Limes	
9100	Three Grapefruits	
9101	Three Tangerines	
9102	Dish of Cumquats, min 20, stalks cut	
9103	Three Citrus, any other variety	
1 st PRIZE:	\$8.00	2 nd PRIZE: \$4.00
9104	Best Collection of Citrus Fruits, min 4 varieti	es, 3 of each

Adult 18+ Home Garden Eggs

1st PRIZE	: \$4.00	2 nd PRIZE: \$2.00
CLASS	DETAILS	
9105	Half Dozen White Hen Eggs (six)	
9106	Half Dozen Brown Hen Eggs (six)	
9107	Half Dozen Hen Eggs, any variety (six)	
9108	Half Dozen Duck Eggs, any variety (six)	

Adult 18+ Home Garden Tuber & Root Vegetables

1 st PRIZE:	\$4.00	2 nd PRIZE: \$2.00
CLASS	DETAILS	
9109	Three Potatoes, White English	
9110	Three Potatoes, Red English	
9111	Three Sweet Potatoes, Red	
9112	Three Sweet Potatoes, Gold	
9113	Three Sweet Potatoes, White	
9114	Large Piece of Ginger	
9115	Large Piece of Turmeric	
9116	One bunch of Three Turnips, tops on, any variety	
9117	One bunch of Three Carrots, tops on	
9118	One bunch of Three Parsnips, tops on	
9119	One bunch of Three Beetroot, tops on and tied	
9120	One bunch of Three Long Red Radish, tops on	
9121	One bunch of Three Long White Radish, tops on	
9122	One bunch of Three Round Radish, tops on	
9123	Three Onions, tops on	

Adult 18+ Home Garden Any Other Variety/Exotic Fruit or Vegetable

If possible, please bring name of exhibit fruit or vegetable, the origin & common usage

1 st PRIZE	\$4.00	2 nd PRIZE: \$2.00
CLASS	DETAILS	
9124	Fruit, any other variety	
9125	Vegetable, any other variety	
9126	Exotic Fruit, any other variety	
9127	Exotic Vegetable, any other variety	

Adult 18+ Home Garden Vegetables

1 st PRIZE:	\$4.00 2 nd PRIZE: \$2.00
CLASS	DETAILS
9128	French Beans, Flat, min 20 pods
9129	French Beans, Round, min 20 pods
9130	Butter Beans, min 20 pods
9131	Snake Beans, min 20 pods
9132	Green Peas, min 20 pod
9133	Snow Peas, min 20 pods
9134	Sugar Snaps, min 20 pods
9135	Three Egg Fruit
9136	Three Chokos, Green
9137	Three Chokos, White
9138	One Head Broccoli
9139	One Cauliflower
9140	Three Cobs of Sweet Corn
9141	One Bunch of Silver beet
9142	One Bunch of Coloured Chard
9143	One Bunch of Kale, any variety
9144	One Bok Choy or Pak Choi Cabbage
9145	One WomBok Cabbage
9146	Three Zucchinis
9147	Three Green or Gold Button Squash
9148	One Bunch of Garlic, three bulbs, roots on
9149	Collection of Asian Greens, min 4 varieties, please label vegetables
9150	One bunch/bundle of Spring Onions, roots on
9151	One bunch/bundle of Eschalots, roots on
9152	One bunch of Leeks, roots on

Adult 18+ Home Garden Basket/Box of Home Grown Produce

1 st PRIZE:	\$15.00	2 nd PRIZE: \$10.00
CLASS	DETAILS	
9153	Best Basket/Box of Home Grown Produce, max 45cm Basket/Box	

Adult 18+ Home Garden Nuts

1 st PRIZE:	\$4.00	2 nd PRIZE: \$2.00
CLASS	DETAILS	
9154	Macadamia Nuts, in shell (dehusked), min 250gm	
9155	Pecan Nuts, in shell, min 250gm	
9156	Peanuts, in shell, min 250gm	

Adult 18+ Home Garden Salad Vegetables

1 st PRIZE:	: \$4.00 2 nd PRIZE: \$2.00	
CLASS	DETAILS	
9157	One Lettuce	
9158	One Cabbage, Round	
9159	One Cabbage, Sugarloaf	
9160	Three Capsicums	
9161	Three Long Green Cucumbers	
9162	Three Long White Cucumbers	
9163	Three Apple Cucumbers	
9164	One Bunch of Celery, roots on	
9165	One Bunch of Parsley	
9166	Three Large Type Round Tomatoes	
9167	Three Heirloom Tomatoes, any size and shape	
9168	Three Red Egg Tomatoes	
9169	Three Yellow Egg Tomatoes	
9170	Dish of any other variety of Small Tomatoes, min 20	
9171	Dish of Chillies, min 20	
9172	Bunch/Bundle any other variety of Herbs, please label herbs	
9173	Collection of Herbs, min 4 varieties, please label herbs	

PUMPKIN & EDIBLE GRAMMAS

1 st PRIZE:	\$4.00	2 nd PRIZE: \$2.00
CLASS	DETAILS	
9174	Queensland Blue, one only	
9175	Baby Blue, one only	
9176	Jarrahdale, one only	
9177	Butternut, one only	
9178	Bugle, one only	
9179	Table Gramma, one only	
9180	Jap/Ken's Special, one only	
9181	Papaw, one only	
9182	Cattle Pumpkin, one only	
9183	Tray of Dumplings	
9184	Pumpkin, any other variety, one only	
9185	Hubbard Squash, one only	
9186	Minikin Pumpkin, small orange pumpkin, on	e only

PUMPKIN & EDIBLE GRAMMAS CONTINUE

1 st PRIZE:	\$8.00	2 nd PRIZE: \$4.00
9187	Collection of Six Individual Pumpkins or Grammas, one from each variety	
1 st PRIZE: \$5.00		
9188	Heaviest Table Pumpkin or Table Gramma	
	All Table Pumpkin or Table Gramma entered will be automatically eligible for this class	

DECORATED BASKET OR BOX BY A RETAILER

- 1. No cut fruit &/or vegetable
- 2. Any size
- 3. Fresh (NO ARTIFICIAL PRODUCE)

1 st PRIZE: \$25.00		2 nd PRIZE: \$15.00	3 rd PRIZE: \$10.0
CLASS	DETAILS		
9189	Decorated Basket/Box by a Retailer		

JUNIOR HOME GARDEN SECTION – 17 YEARS & UNDER

The exhibit must be grown by the Exhibitor

Junior Home Garden Fruit

1 st PRIZE: \$4.00		2 nd PRIZE: \$2.00	
CLASS	DETAILS		
9190	Three Oranges, any variety, must have small stalk		
9191	Three Lemons, any variety, must have small stalk		
9192	Three Mandarins, any variety, must have small stalk		
9193	Three Limes, any variety, must have small stalk		
9194	Three Citrus, any other variety, must have small stalk		
9195	One Pawpaw		
9196	One Pineapple		
9197	Three Passionfruit		
9198	Three Avocados, any named variety, short stalks		
9199	One Custard Apple		
9200	One Monstera Deliciosa		
9201	Dish Rosellas, min 20		
9202	Fruit, any other variety		
9203	Dragon Fruit, any other variety, one only		
9204	Macadamia Nuts, in shell (dehusked), min 250gm		
9205	Pecan Nuts, in shell, min 250gm		

Junior Home Garden Eggs

1st PRIZE: \$4.00		2 nd PRIZE: \$2.00
CLASS	DETAILS	
9206	Half Dozen Hen Eggs (six)	
9207	Half Dozen Duck Eggs, any variety (six)	

Junior Home Garden Vegetable

1 st PRIZE: \$4.00 2 nd PRIZE: \$2.00		
CLASS	DETAILS	
9208	Dish Chillies, min 20 or 50g	
9209	Beans, any variety, min 20 pods	
9210	Green Peas, min 20 pods	
9211	Snow Peas, min 20 pods	
9212	Sugar Peas, min 20 pods	
9213	One Head of Broccoli	
9214	One Cabbage, any variety	
9215	One Cauliflower	
9216	One Lettuce	
9217	Three Chokos, any variety	
9218	Three Cobs of Sweet Corn	
9219	Three Capsicums	
9220	Three Cucumber, any variety	
9221	Three Potatoes, any variety	
9222	Three Sweet Potatoes, any variety	
9223	One Bunch/Bundle Eschalots, roots on	
9224	One Bunch Spring Onions, roots on	
9225	One Bunch Silver beet	
9226	One Bunch of Three Carrots, top on	
9227	One Bunch of Three Beetroots, tops on and tied together	
9228	One Bunch of Three Radish, tops on	
9229	Three Zucchini	
9230	Three Green or Gold Button Squash	
9231	One Bunch of Parsley	
9232	Three Round or Egg Tomatoes	
9233	Dish of Any Other Variety of Small Tomatoe	s, min 20
9234	Vegetable, any other variety	
9235	Herbs, any other variety	
9236	Pumpkin, any variety, one only	

SUPERMARKET FRESH & 'VALUE ADDED' COMPETITION

THIS YEARS' THEME IS: FARMING in the FUTURE

This is an opportunity to promote Gympie at its best with an eye-catching display and to support the local community.

Points are awarded on theme, quality of produce, value added products and overall presentation. All 3 Judges judge displays.

If you would like to participate, please book your display by phoning Marianne on 07 5483 2920 or 0439 771 790

- Depending on the number of supermarkets entering, produce a display (3 supermarkets) 2.4m high x
 3.2m across or (4 supermarkets) 2.4m high x 2.4m across depicting the given theme.
- 2. The design must consist of fresh fruit and/or vegetables with value added products (grocery items) in plastic, bottles, or tins.
- 3. It would be preferable if you could use products of Australia.
- 4. Your supermarket brand named products may be on display.
- 5. A backing board (1.2m high x 3.2m or 2.4m across) may be used for signs or banners.
- 6. Hay, paper, or any medium for filling spaces can be used.
- 7. The erection of your display must be made on Tuesday 14th May 2024 from 9am until 6pm (after 6pm can be arranged with Head Steward)
- 8. The display must be built and erected by members of your organisation.

1 st , 2 nd , 3 rd PRIZE: Banner or Plaque		
CLASS	DETAILS	
9237	Supermarket Fresh and Value - Added Competition	

WIN A TWO NIGHT STAY AT DOLPHIN WATERS APPARTMENT AT TIN CAN BAY

One lucky COMMERCIAL GROWER who enters Open Classes in the Fruit & Vegetable Section will receive a ticket into the draw for this giveaway.

Two Bedroom Self-contained air-conditioned cabins, BBQ facilities, laundromat, Swimming Pool, free Wi-Fi available at or near reception.

Close to the popular dolphin feeding area, shops, restaurants, the foreshore, play areas, the marina & boat ramps. A short drive to Rainbow Beach.

TIN CAN BAY – a great place to visit.

Tin Can Bay's Dolphin Waters Apartment contact Greg and Karen Widdison Ph: 5486-260





FRUIT & VEGETABLES ENTRY FORM

Subject to the Rules and Regulations in this year's schedule, I wish to make the following entries for the Gympie Show

NAME:		
ADDRESS:		
SUBURB:	POSTCODE:	PHONE:
EMAIL:		
ABN:		GST REGISTERED: YES/NO
SIGNATURE:		
Bank:	BSB:	Account:

PLEASE USE A SEPARATE FORM FOR EACH PERSON

CLASS	CLASS DESCRIPTION		NO FEES
NO ENTRY F	ES		
DONATIONS			
OFFICE USE (ONLY		
Showday Completed: Yes/No		Payment: Cash/EFTPOS	
Name:		Signature:	